MATH 7

Algebraic Properties .

Write an equivalent expression using the property stated.

1. Identity Property of Addition: ¢ +0=
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Identity Property of Multiplication: 22b-1=__
Multiplicative Property of Zero: 40,286 - 0=
Commutative Property of Addition: x +z= ISR T Y
Commutative Property of Multiplication: k- 6 =
Associative Property of Addition: (1+3)+9=__
. Associative Property of Multiplication: (w + )1 =

Name the property demonstrated by each statement.
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9:-7=7-9
2:(3-4)=(2-3)-4
37-0=0

1-87 =87
14+6=6+14

3(6a) = (3-6)a
2b+0=2b
35+6=6+55
6-7=7-6
(x+3)+y=x+G+y)
1-mp =mp
9+(5+35)=(9+5)+35
66+ 0 = 6b

7x-0=0
43-z)=(4-3)z

x+4=4+x

14-1=14 _
6+(S+m)=(06+5)+m
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Using the Distributive Property =~ ; Date . Period___
Simplify each expression.
1) ~6la +8) ‘ ' 2) 4(1 +9x)
3) 6(-5n+7) ' 4) (9m+10) -2
5) (~4-3n).-8 = . 6) 8(~b-4)
Do Q-5 S TR D g g(rad)
9) 5(3m - 6) 10y (6peT) 4
11) s(b-1) | S 1) (x+9)-5
e
ST




